Name: _______________________________________________    Date: ___________________________    Block:____________

Order of Operations 
	1. Evaluate.- 4 − 3 + (5 − 1) − 3
	2. Evaluate. 2+3 ● [4+(6 ● 3 − 8)] ● -2 

	3. Evaluate. 2 × 3 − (4 − 2) + 32
	4. Evaluate. 4(6) − (3 + 4) + 22

	5. Compare. Write <, >, or =.


5 ● (32 + 6) +- 7 _____________ 5 ● 32 +( 6 + -7)
	6. Compare. Write <, >, or =.


(22 × 92) ÷ 1 _____________  (6 × 82 − 4)

	7. Insert grouping symbols to make the statement below true.


8   +   9   ×   42   −   4  =  148
	



